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1. Which river, other than Bhagirathi, contributes significantly to the volume of water in Ganga before it reaches Haridwar?

a. Yamuna

b. Alaknanda

c. Gomti

d. Kosi

Answer. b

2. Which river branches off from the main Ganga course below Rajmahal hills and flows separately?

a. Padma

b. Brahmputra

C. Yamuna

d. Bhagirathi

Answer. d

3. Which of the following rivers acts as the headstream of the Meghna river system in India?

a. Subansiri

b. Manas

C. Tista



d. Barak

Answer. d

4. Which of the following is a characteristic tree found in the alpine zone above 4750 metres?

a. Chir pine

b. Maple

C. Silver birch

d. Bamboo

Answer. ¢

5. Who is the current governor of Maharashtra?

a. C.P. Radhakrishnan

b. Ajay Kumar Bhalla

C. Vijay Kumar Singh

d. Om Prakash Mathur

Answer. a

6. What was the name of the larger state that Maharashtra was carved out from in 1960?

a. Kerala State

b. Bombay State

C. Hyderabad State

d. Madhya Pradesh State

Answer. b

7. Which scenario leads to a fall in real wages, assuming nominal wages remain constant?



a. Decrease in worker productivity

b. Increase in tax rate

C. Increase in inflation

d. Government subsidy

Answer. ¢

8. In which Indian state were the 2025 National Games held?

a. Mabharashtra

b. Uttrakhand

C. Gujarat

d. Punjab

Answer. b

9. Who won the bronze medal in tennis from Maharashtra in 2025?

a. Arnav Paparkar

b. Anup Bangargi

C. Nishit Rahane

d. Sandesh Kurale

Answer. b

10. In 2025, which company announced a 3 trillion investment in Maharashtra for EVs, batteries, and green energy?

a. Reliance Industries

b. JSW Group

C. Adani Group



d. Mahindra & Mahindra

Answer. b

11. What is the name of the scheme launched by Maharashtra in 2025 to provide financial assistance to women aged 21-65?

a. Sakhi Yojana

b. Mahila Samriddhi Yojana

C. Majhi Ladki Bahin Yojana

d. Stree Shakti Scheme

Answer. ¢

12. What was the key focus of India’s 2025 Defence Budget increase as announced in early 20247

a. Increased pensions for veterans

b. Expansion of foreign military bases

C. Investment in joint military training infrastructure with friendly countries

d. Modernization of indigenous weapon systems

Answer. d

13. Which Indian queen built a stepwell as both a water source and a cultural site, now recognized as a UNESCO World Heritage Site?

a. Rani Rudrama Devi

b. Rani Udayamati

C. Rani Durgavati

d. Rani Lakshmibai

Answer. b

14. Which veteran Kannada actor, known for his role in the television series "Malgudi Days," was awarded the Padma Bhushan in 2025?



a. Shankar Nag

b. Ramesh Aravind

C. Anant Nag

d. Puneeth Rajkumar

Answer. ¢

15. In 2025, Shri Manohar Joshi from Maharashtra state was awarded the Padma Bhushan for his contribution in which field?

a. Social cause work

b. Sports

C. Public Affairs

d. Education sector

Answer. ¢

16. Why does the ammeter needle not move when connected across the terminals of a disconnected bulb?

a. The ammeter is faulty.

b. No current flows through an open circuit.

C. The bulb is too far from the ammeter.

d. Voltage must be measured instead.

Answer. b

17. If two appliances are connected to the same 220 V power supply, one draws 1 A and the other 0.5 A, what can be said about their resistances?

a. Both have the same resistance

b. The 1 A device has higher resistance

C. The 0.5 A device has higher resistance



d. Resistance cannot be compared without power

Answer. ¢

18. Which condition will not directly increase the heat produced in a resistor according to Joule’s law?

a. Increasing resistance while keeping the current constant

b. Increasing current while keeping resistance constant

C. Increasing both resistance and time

d. Decreasing the time for which the current flows

Answer. d

19. Two irons operate on the same 220 V supply. Iron X uses 360 W and Iron Y uses 840 W. If they run for equal time, which statement is true?

a. Iron Y converts more energy to heat

b. Tron Y produces less heat

C. Both convert energy equally

d. Cannot be determined

Answer. a

20. Which of the following correctly explains why nerve signals in the human body create magnetic fields?

a. Nerve signals travel using sound waves

b. Ton currents flowing in nerves behave like electric currents

C. Magnetic impulses are stored in brain cells

d. Muscles release magnetic energy during movement

Answer. b

21. Which of the following is a photodecomposition reaction?



a. 2ZAgBr — 2Ag + Brz

b. Ca-‘."G‘3 = Ca0 + C{)Z

c. 2FeSO, - Fe,0, + SO, + SO,

d. CuS0, + Zn - ZnSO, + Cu

Answer. a

22. Choose the option with all natural sources correctly paired with their acids.

a. Ant sting — Methanoic acid, Vinegar — Acetic acid, Curd — Lactic acid, Tomato — Oxalic acid

b. Vinegar — Oxalic acid, Orange — Lactic acid, Tomato — Citric acid, Lemon — Acetic acid

C. Curd — Oxalic acid, Tamarind — Citric acid, Lemon — Methanoic acid, Orange — Lactic acid

d. Tamarind — Oxalic acid, Lemon — Oxalic acid, Tomato — Acetic acid, Orange — Methanoic acid

Answer. a

23. Why is sodium hydrogen carbonate considered safer than other bases for use in food?

a. It is acidic and non-corrosive

b. It is mildly basic and non-corrosive

C. It is highly reactive and oxidizing

d. It has a strong pungent smell like ammonia

Answer. b

24. Which of the following substances, when added to vinegar, will produce carbon dioxide?

a. Sodium chloride

b. Washing soda

C. Quick lime



d. Baking soda

Answer. d

25. A person is experiencing a burning sensation in the chest due to excess stomach acid. The most suitable medicine would be:

a. Painkiller

b. Antacid

C. Antibiotic

d. Antiseptic

Answer. b

26. Which component in digestion performs a dual role of alkalizing the food and preparing fats for enzymatic action?

a. Bile juice

b. Pepsin

C. Mucus

d. Saliva

Answer. a

27. The muscular movement pushing food along the gut is known as:

a. Digestion

b. Peristalsis

C. Sphincter action

d. Emulsification

Answer. b

28. Which feature directly enables zygote formation during reproduction in flowering plants? Select the correct pairing of cells.



a. Ovule and filament

b. Stigma and petal

C. Pollen and egg cell

d. Sepal and ovary

Answer. ¢

29. In girls, menstruation begins during adolescence due to hormonal activity. Which event does it signify?

a. Pregnancy initiation

b. Onset of puberty

C. Fertilisation inside the uterus

d. Egg-sperm fusion

Answer. b

30. If a person cannot coordinate voluntary muscle movements, which brain region may be impaired?

a. Forebrain

b. Sensory cortex

C. Motor area

d. Medulla oblongata

Answer. ¢

31. Simplify: [8 x (4 + 1)] = {3 x (6+2)} +7

b. 33

C. 28



d. 25

Answer. a

32. Two numbers 17 and x have LCM =1836 and HCF = 1. What is the value of x?

a. 102

b. 108

c. 124

d. 136

Answer. b

33. Find the numbers that leaves the same remainder 5 when divided by 12, 18, and 30.

a. 120

b. 173

C. 185

d. 190

Answer. c

34. 2 960 was invested for 4 months and earned a simple interest of ¥32. What was the rate of interest per annum?

a. 10%

b. 8%

c. 12%

d. 15%

Answer. a

35. If the simple interest on 5,600 in 2.5 years is ¥700, what is the annual rate of interest?



a. 4.6%

b. 6%

C. 5%

d. 5.6%

Answer. ¢

36. If the edge of a cube becomes one-third of its original length, then the volume becomes how many times the actual volume?

a. 1/9

b. 1/6

c. 1/27

d. 1/18

Answer. ¢

37. A cube's edge is increased to three-fourths its original value. What is the ratio of new volume to old volume?

a. 3/4

b. 27/64

c. 9/16

d. 3/8

Answer. b

38.

The pie chart above shows the percentage-wise school bags production by five different companies (A, B, C, D, and E) in India during a particular
year. If the total school bags production was 2,00,000 units, how many school bags were manufactured by company D?



PERCENTAGE OF BAGS MANUFACTURED
BY COMPANIES

A

25%

15%
10%

30%

a. 20,000 units

b. 25,000 units

C. 15,000 units

d. 40,000 units

Answer. a

39.

Two pipes together can fill a tank in 4.8 minutes. Pipe A takes twice the time of Pipe B to fill the tank individually. What is the time taken by each
pipe to fill the tank alone?

a. A: 10.2 min, B: 5.1 min

b. A: 8.4 min, B: 4.2 min

C. A: 14.4 min, B: 7.2 min

d. A: 12 min, B: 6 min

Answer. c

40. Simplify: (3.2 x 1.5) + (2.4 = 0.6)

c. 7.0

d. 6.5



Answer. a

41.

Arjun, Babu, and Charan can complete a job alone in 24, 16, and 48 days, respectively. Arjun starts the job, and every fourth day Babu and Charan
join him. In how many days will the work be completed?

a. 14 days

b. 16 days

C. 12 days

d. 15 days

Answer. b

42.

A and B start from two points 900 km apart. A travels at 60 km / h and B at 45 km / h. How long will they take to meet if moving towards each
other?

a. 7.2 hours

b. 8.57 hours

C. 10.43 hours

d. 12.18 hours

Answer. b

43.

In a toolkit, there are 7 pliers, 4 screwdrivers, and 3 hammers. If two tools are drawn at random, what is the probability that one is a plier and the
other is a screwdriver?

a. 4/13

b. 93/260

c. 107/390

d. 206/585

Answer. a



44.

A bag of beads contains 8 circular, 3 oval, and 4 triangular beads. What is the probability of selecting a circular and an oval bead when two beads
are picked?

a. 8/35

b. 39/140

C. 41/210

d. 86/315

Answer. a

45.

After 3 years, an amount yields ¥867.38 as compound interest at a rate of 6% per annum, compounded annually. What was the principal amount?

a. 34540

b. 4200

C. %4500

d. 24600

Answer. a

46.1f 18 : 324 :: z : 144, what is z?

b. 9

Answer. a

47.

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements: 1.All buses are vehicles. 2.Some vehicles are red. Conclusions: I. Some buses are red. II. All vehicles are buses.



a. Neither conclusion I nor II follows.

b. Only conclusion II follows.

C. Both conclusions I and II follow.

d. Only conclusion I follow.

Answer. a

48.

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements: 1.Some athletes are doctors. 2.All doctors are educated. 3.Some educated are not athletes. Conclusions:

I. Some athletes are educated. II. All doctors are athletes.

a. Only conclusion II follows.

b. Only conclusion I follow.

C. Both conclusions follow.

d. Neither conclusion follows.

Answer. b

49. In a certain code language, "TIGER" is written as "@!6%2" and "GRANT" is written as "62*&@". What is the code for "RENTER"?

a. 2%&@%2

b. 6@%2@6

C. 26@&62

d. 6%@&%6

Answer. a

50. Rita is the mother of Karan. Karan is the nephew of Sunil. Sunil has a daughter named Priya. How is Priya related to Karan?

a. Sister



b. Cousin

C. Aunt

d. Niece

Answer. b

Test Question Language:- REGIONAL

1. 7 gRERAT Ursravargel YRTRA safaiad SoR S0t et Tmmefe uroaran JHomEe Fg@yol IieH Ga?

a. 7

b. 3ferp-iar

c. MAdt

d. &R

Answer. b

2. ST CHSTedT Tt 1A G YaTeT HIvTh 1a! e SfTfor Tacuo! arga?

a. =1

b. ST

c. T

d. yrfReft

Answer. d

3. YRdTcitel HET -1e} JoMTeie T8 UdTg Wieiade! &I el Sga?

b. A

c. fawar



d. /6

Answer. d

4. 4750 THeVe TR SR AT 3T FTHE Weaded! HIurd dFRreaqul s Sewd?

a. R Ui

b. Aua

c. freeR &

d. sy

Answer. ¢

5. HERTYT WL JATUTS HIUT 3MTec?

a. IOt TurpwE

b. 3foRT HHR Hew

c. fasia paR Rig

d. 3 GehT=T TR

Answer. a

6. 1960 W HERTY AT HIGUT IASATURET d7Tcs Tl ATl Td BT §li?

a. B I

b. 4ag I

¢. BTG I

d. 97 USRI Id

Answer. b

7. ST YRR aRafde ad-Td °e gid, SR A9 da- fRR Afga av?



a. HTHIR IATGHAd U

b. HY T a6

¢. TENTSd alg

d. BRI 3

Answer. c

8. 2025 =T P WesTd SIS DIVET YRl AT HRUFTA 3Ted Blei?

a. Ry

b. IRrEE

C. ORI

d. g99

Answer. b

9. 2025 A HERIPIH g cGHE B Ugdh Dl fiepa?

a. 3uig UTRHR

b. 3y armif

c. fARrd zgmo

d. RS

Answer. b

10. 2025 T HIUAT HUH HERIPTT ca1, Sct 101 gRa Hornd! 3 fEfera Fuaid Tfdaue Hrvar gron beit?

a. Ramg gei

b. S.T¥. S qU



c. 3GHI gu

d. #fger 3fs wfgar

Answer. b

11. 21-65 FUNTETAE AR 3 Aad TGRSt HERTYI 2025 HEll Y= dheted UreTel 1d BT 3TR?

a. gt gemT

b. wfga Tl Ao

c. ATeht ATSHt dfg Ao

d. Tl et AT

Answer. ¢

12. 2024 1 GHATH STER HeAedn HRATAT 2025 T WA SIH T aTe a1 T Sex HTd Fal?

a. Tl IS8T aredd U=

b. TR TR deET fowR

c. o qRIiaed Sy Al Ui uranyd gfadiHed Jadues

d. TSR IRAR YU SYFepTepRum
Answer. d

13.

?ﬁwmﬁumﬁﬁw@a 10T TP oo i U Urg=aie fagi aiercht, St ST AR AT SIRTide dRYT R U i@
?

a. oft sgwr

b. 3Toft IgTH

c. ot grifach

d. 3ot deefers



Answer. b

14.
RIS SO T griezaruf Hifcdsdia Yfihardt UG Sricical iU WY Has ST 2025 HE YTV YREHR FHT-d HRUATT
3Tel?

a. p AN

b. W1 3Rfdg

C. 3d ARl

d. Fa I6HER

Answer. c

15. 2025 AL, HERTY ATl 41 HIGR SRN A1 HIvIAT &ATciel AT YIS0 REBR FHId HRUATd 3Tel?

a. TS B

b. wiar

c. Ap-dprd

d. e &=

Answer. ¢

16. fE¥p1de Hoedl Teaa TR SISTIaR HHiexd! gs &1 gad Tal?

a. (e UeIY 3%

b. 3fiu= Tfchery faggd vyaTe argd e,

C. §od SR QU §X 3MTe.

d. TGSl Blecs HISUl 3TIRISH 3Tg.

Answer. b

17. SR GF JUBRT THTT 220 V ISl GRISIRN SISt Sciie], IR T 1 A SHTIOT GIRT 0.5A TG, R AT Wb RISEd B FUrdT s a?



a. I UAeR THH 38

b. 1 A IUSHUET UAHR S 318

C. 0.5 A SUSHRUTT UfdHR IR 31T

d. ARG UfBRI e Hem Id et

Answer. c

18. Sgere AR Sl Ry faggfaRiudmed fFaiu gIum Iwidr de aeuR gl

a. faggfcRly RR SadM ufdeR arga

b. faqgfeariy FRR Sadr vare dreaul

c. UfasR YT des gl aTeaur

d. faggfcRiy arguarar des HH Ul

Answer. d

19.

?ﬂ?@azzo e YRAGITaR ATdTd. TIg X 360 d¢ aTuRal SIfO1 &g Y 840 dC TURGL. SR o FHIF dobH1d ATeid Sfciie], R HIord
i ?

a. AIE Y T Hord IUAd TR Bl

b. dig Y HH Iwrar a0 Bl

C. TG Ioid YA FYTR HRaTd

d. fAf3¥a war aq =g

Answer. a

20. A IR A Ghd 1T & BT FHHT0 ST & B! HIUTd TR Y HRA?

a. il Hobd &1 g ITuRs YaTd $ad

b. TATCHE ATGUIR ST VaTg figyd JaTgRE arTard



c. Hg=a1 URiAed YaepTd SH1aT ATt SHTdrd

d. AT gTeraTelt GXEIH g Sl Sigard

Answer. b

21. Frefiertis! U upTifdge ififsar amg?

a. 2AgBr — 24g + Br,

b. CaCG‘3 = Ca0 + COZ

c. 2FeS0, - Fe,0, + 50, + SO,

d. CuSO, + Zn - ZnSO, + Cu

Answer. a

22. 94 A9 Wi T mraied AT Siead i fRdsT.

a. Tiftan S - IS S oma, fg TR - SiRife e M, el - cifde s 3md, Sel - siiqifard et

b. f&TR - 3ilTerds i, AT - cifded 3T, T el - RIfed 3, foig - SfiRife e amat

c. G - Siiitard ST, e - wrafea sm, fofg - s sim, ¥ - cifdes s

d. g - sfiqifere sm, ol - sifaiors s, Siie! - siRifed o, ¥t - fidHig & st

Answer. a

23. AW JTORUATTS! I STH §GIoH BIalT SR ST JRIE BT AT wT?

a. q SMeRIa ST TR-TERS 3

b. & Gregutl IR 31O TR-TeReb 3R

c. I 3rdd ufdfcharaiter anfor siffeysatsiT sme

d. e sRrRET dg deu arg g

Answer. b



24. {FTRAD TWelleTd! ST Terd ey Hled sH3fiEs TR gsa?

a. feTn TR S

b. T I@reT

. SerG gl

d. SfHr Orer

Answer. d

25. QIeTd SHTFITAT SR [TUTHes TR Saiial STiid Siedele gId 313, Yald ard e S0 $M1e?

a. IS

b. fe1fre

c. fdemifes

d. 3w

Answer. b

26. TS I YT AT SRR 10T USawfed fohiaTdl TRe! aaR SHRUar gosl YA aoadi?

a. o

b. fee

c. TT

d. e

Answer. a

27. JTASTHYA 3 SH VAT ARG AT gIardTeiiel GUrdId:

a. U+



b. af=fafg

c. Rhaex fran

d. sycfftreheE

Answer. b

28. G FRYN A TS ATGATGRET HIUTd dfkreed 3¢ e TR SRuar ged Hra? Uit 9 st FAasT,

a. dlsTig 3o o]

b. i 3T UThost

¢. RIS UT 3for 3i) Uit

d. Juq 3y ST

Answer. ¢

29. gefiued, gTAA fhaTe I URiSTawId HIRidh UTes! G Bid. o HIUTT ge-d Uelidh 3iTg?

a. YRR goard

b. FraTe geard

c. THTRRTd iy

d. 37SI-Yep1o] Harg

Answer. b

30. SR QT oKkt Vs ARG glerdTciid GH-aY W b A4d, aR HGAT HIurdl HIT faeg b

a. YUY

b. T} HIdaq



d. Fgar sffsrTer

Answer. c

3. U HEA I T [8x (4+1)] - 3% (6+2)}+7

a. 38

b. 33

C. 28

d. 25

Answer. a

32. 17 30T x T G TATHE LCM =1836 37101 HCF =1 3118, x =t fhud it 3mg?

a. 102

b. 108

c. 124

d. 136

Answer. b

33. 12,18 3101 30 7 HNTUTaR TH 5 RIcwes AGUI=AT TBT TN,

a. 120

b. 173

c. 185

d. 190

Answer. ¢

34. 4 OIS 2960 TATTHTAR, TR 332 Fdd AT TS MBI, 71 Tdaford aifitfes reieR fabt giar?



a. 10%

b. 8%

c. 12%

d. 15%

Answer. a

35. SR 25,600 TR 2.5 TNId 18 TS 2700 38, R I SToIeR fbel! 3a?

a. 4.6%

b. 6%

C. 5%

d. 5.6%

Answer. ¢

36. SR YT YR AT Yoo diaiedl Ueh ot SiTeh, R Qe THRAM U B RATT fdhdl ue giga?

a. 1/9

b. 1/6

c. 1/27

d. 1/18

Answer. ¢

37. U1 T ¥R AT Hes AT -9 qufel Saa! areact oiid. T STRAMTE -1 SThRAMRT [uiR fadt 31g?

a. 3/4

b. 27/64



C. 9/16

d. 3/8
Answer. b

38.

8 U =1 Ul fafRiy aufd YRdTd ura dwraTest Ui (A, B, C, D, 3101 E) fhdt cadhaRiguR SR §9dd 33d o gRifddl. SR ThHur
TR SMIG 2,00,000 HSH 3, TR HUHT D A favell R Saa?

15%
10%

a. 20,000 T

b. 25,000 gFcH

¢. 15,000 ey

d. 40,000 gy

Answer. a

39.

S U U RAqUl 4.8 fifHeid U STt UE QdhdTd. UTST A @1 21! [au0 HRUIRITS! UIsy B 2 GWIT 4 ANTd. Udid Ureud Ushe
T! WRUGTTS! fohell @ AmTar?

a. A:10.2 ffae, B: 5.1 fafe

b. A: 8.4 fafe, B: 4.2 fafAe

c. A:14.4ffRe, B: 7.2 ffae

d. A 12 fafe, B: 6 fIfAR

Answer. c



40. TRTNBRUT BR: (3.2 x 1.5) + (2.4 + 0.6)

a. 8.8

b. 8.3

c.70

d. 6.5
Answer. a
41.

SIS}, ST ATVT TR Thed HTH SIHH 24, 16 3T 48 fEawid YUl o= hdId. S HTH = Hal SAT0T aR e fgasht arg anfdr =a=or
AT BTH BT, ST fbelt feawia guf giga?

a. 14feaw

b. 16 faq

c. 12 feag

d. 15feaw

Answer. b
42,

A 3T B 900 foh it SfaRTaRiel & iU Yard Y= xdrd. A 60 o 1l / a1 ¥ Tarsd =t 3107 B 45 fos 7 / A 9771 Yo ol
TR G ey i1 Heuary fddl des drta?

a.7.2d¥

b. 8.57 ™

C. 10.43 d¥

d. 12.18 a9
Answer. b
43.

m;agﬁu%7m,4mmmamem.mmmﬁmmmwwmmwm
RIGuE| ?



a. 4/13

b. 93/260

€. 107/390

d. 206/585
Answer. a

44,

U UehT fURTdld 8 TBIHR, 3 SISt 17T 4 FHpioh 7ol oryard. gF Hoft asweR U adaTHR 3N T et Auft FRasvard
FuregdT fasdl arg?

a. 8/35

b. 39/140

c. 41/210

d. 86/315

Answer. a

45. 3 IR, THT IHHAT M 6% A IhdTe TS U 2867.38 fesdrd, S A gehdle 318, TR U adhH bt giat?

a. 34540

b. 24200

C. 34500

d. 4600

Answer. a

46. TR 18:324:: 2 : 144, W z I A H1T?

a. 12

b. 9



d. 16
Answer. a

47.

fearett e anfdr freend T oiiyde aran. faumiae feaed mitd @<t oe o/ RId o, St ot Arr=aa: 1 deaieht fis ared s as,
fedien fraufie S aifdamesedr faymime Jard d aar.

fIum: 1.9d 999 9187 3R, 2. FTe! a8 AT T 3fed. fehy: |. HIe! S99 ard T 3A1Rd. 11 Jd a8 S99 312

a. Qg fsepef | fobam 1) sRYSR TR,

b. Tad fspY 1| SRR 3M1R.

c. qigl s | 3fdn 1) SRR 318,

d. T fepY | RIR 3R,

Answer. a

48.

faarett e anflr freed wresiiyde aran. faumia feaed mitd @<t oe o/ EId o, SRt ot rr=aa: 1 deieht firs ared s av,
fedien fraufie o aifdamesedr faymiae Jard d aar.

UM 1 P1E) WooTg Slaex 3MMed. 2.9d Sidex YRR 3fied. 3.PTe! YR WeTg i, Fwhy: | H1e! Wesrg YRR 3iea.

II. 99 SideR WeaTg 3HTed.

a. Thod fA=py || SRR 3R,

b. thad fFAepY | R 3R,

c. gt frepy SRR 3.

d. gt ey SRR =T1gia.

Answer. b

49. 71 faf1Y HIs UG, "TIGER" B "@!16%2" 3% faifgd SITd 311fdT "GRANT" B "62*&@" 31 fifgd STdl. @R "RENTER" A1 HIS B 3M1g?

a. 2%8@%2



b. 6@%2@6

c. 26@8&62

d. 6%@8&%6

Answer. a

50. i1 € HRUTE 3TS 3T, BRI BT Grlera GauaT 3. Grteret v Arard e Gerft 3ie. frare worht & 7 3me?

a. gfe@ FEIor

b. gerd SgTor

C. BIh

d. yrht

Answer. b

Test Answer

1. (b) 2.(d) 3.(d) 4. (c) 5. (a) 6. (b) 7.(c) 8. (b) 9. (b) 10. (b)
11.(c) 12.(d) 13. (b) 14. (c) 15. (c) 16. (b) 17.(c) 18. (d) 19. (a) 20. (b)
21. (a) 22. (a) 23. (b) 24. (d) 25. (b) 26. (a) 27. (b) 28. (c) 29. (b) 30. (¢)
31.(a) 32. (b) 33.(c) 34. (a) 35. (c) 36. (c) 37. (b) 38. (a) 39. (c) 40. (a)
41. (b) 42. (b) 43. (a) 44. (a) 45. (a) 46. (a) 47. (a) 48. (b) 49. (a) 50. (b)



